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Grade 11 Math HL
               Tutorial 2 – Log & Indices
       20/9/10
Due on 27/9/10









30 marks

Answer all the questions in A4 size paper

1) Change the logarithmic expression into its equivalent exponential form. 
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2) Solve for 
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, giving your answer correct to 4 decimal places. 
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3) Simplify the following:
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4) Given that 
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Express the following in terms of 
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xy
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(b) 
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5) Solve 
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6) Without using GDC, Solve the following:
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(a) 
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(b) 
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7) A savings scheme pays 20% per annum compound interest. A deposit of £200                         is invested in this scheme at the start of each year.




[6]

Find the amount in the scheme at the start of the twentieth year, after the                         annual deposit has been made.
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